BANBEXMOFAE -BRRKK

HEBAEARIRRDOLE

2024431817

i

HEERA 8% |BA|TH| mx  |ssmwoe BAKRE-BP) §
REREERENAOLE 70 68 | o |mammmm| mumer | 21| 7 | o | 37
= |t R B R RS AT E 6 6 mamsE| BuwEr | 1| o | 2| 3
| REREERRLROLEEN 2 BEES| O | ETIceniA | BeameET |3
BECCLERRAEEE 65 65| 0 |Ericea | mumEr | 7 | 2 | 18 | 27
HHEA— LRy EEAR—L 80 68 | o |mrcen | mumer| 6] 8| 8 |32
BHEAS— LRy EEAR—L EHAR 3 AR | EBETH |5
A DLER—ANL/S—RT—SaY - 7 BNESRE | SuAmET | 1 | 0 | 1 | 2
SRETT (- H—E R Ev5— (1% R) 18 18 |2t EDEGRA | RIARET | 4 | 1| 2 | 7
ENROUERENEXIEE L BNEsRA | SumET | 1| 0 | O | 1
BRIREE A h— AR BN 80 53 | 12 | Engssger | muamEr | 26 | 11| 6 | 43
BRREE AR— LRy ENY EHAR(ZERE) | 5 1| o | maE | mwwer %
NEEARRIEREOE - BN 76 69 | 5 | AR | muamEr| 40| 9 | 9 |58
BOE- BRNEHIRE 4 0 SIAWET | I
= |BOR-RUNERNEVIBEER) 20 0 58EEER | RIANET |5
% [Bo - mummmy ALY - 2 Ba | ERETH | R
|z A k—LmpmmE 35 33| o |Erizea | mumEr | 5| 3| 1| 9
B2 h— LEMEEH 3 2 | 0 | ®RAE | FIEET |F%KFF
BABEE A k— A1 yh 7 EHE 60 54 | 17 | @A | susEr |16 | 18 | 13 | 47
HRIEEZAR—LI=ZYN TENRE EHAR(ERE) | 5 0 ERIAT] TABET | 3RFE
SRS AR— AL DA 30 30| 4 |Erzen | a (11 1| 1|13
ST R R AR — LD DHIE 60 57| 3 | mna | mit 23] 14| 5 |42
ERBRREE h— LG OHE EHAR(EER) [ 2 1 sHA | AR |RE
BN EEELOLAE - 0| —| m@a |@uzm| o] oo o
BENESEEE AR - 0 | — | B8BW | BHMKHE |EE
BAER R ARAENEY L—TR—LOCLAIE| 18 1| o| = |ma%Er| 7|35 |15
BALE R EBRLYXLLER AL 60 so | 1| ;uma | mumer | 6] 11| 7| 34
LYU~LSLER ARG 2 BER| O | REE | BIAET |35
HBREREBELYSLT— 5t 8—tt R 30 25| o | mmA |mumEr| 4 | 2| 2| 8
HEAEEEBN S HrR— L 25 21| o | mma |2umEr| 1| 3| 1|5
B HEERAFERLYLLE 30 26| o | FmA | muwmEr | 15] 1 | 6 | 22
LY~LEESE 10 R 0 | RMAW | BWET | R
53%‘ REF(Y—ER 30 42 0 EYNSIE 3
L AU E B SEER A\ E Ut S— 40 39| 2 | mmA | muwmEr| 25| 6 | 15 | 46
;,g BREUNEY U E2—EH 3 0 | 0| FMAE | BKNET |3
BAMEIL Y —E R EBIL TR X IER 40 38 BNEGRE | BMBET | 3 | 4 | 2 | 9
Bt R— L E 10 8 | 1 | AFIFH | BMRHET | 5T
5 I—Fh— Lt £ () 10 7 AET | RM%EE | 1| 3| 1|5
5 I —Fh— 8 (%) 5 5 AEF | RMEE | 0 | 1| 0| 1
AEAEDHCBEEYRHB 20 30 BNEGRA | BMZET | 4 | 1| 3 | 8
= N A B 957| 0 |845| 45 248|109 | 117 474




